HPE_CIE10 YB- & GR-Zapfen-Empfindlichkeit
T10,/N)=[B11X10 d\)+B12Y10,N)+B15Z10 dN)1/4,16
Blj 0,3897 0,688? —-0,0786\{570)
A1m =511, 565, 623 DB5: 3T 19 A)=97,40
| 9104} = 4T10N) [1-T1odN)]
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HPE_CIE10 YB- & GR-Zapfen-Empfindlichkeit
T10,(N)=[B11X10 d\)+B12Y10 M) +B1 210 dN)1/4,31
Blj 0,3897 0,688% —-0,0786\{570)
M.m =515, 575, 626 D50: 5T 1 dA)=100,18
4 910,iA) = 4T 101N [ 1 -T104A) ]
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HPE_CIE10 YB- & GR-Zapfen-Empfindlichkeit
T10,(N)=[B11X10 d\)+B12Y10,4N)+B1 210 dN)1/4,62

Blj 0,3897 0,688% —-0,0786\{570)
M.m =521, 585, 629 P40: 5T 14 dA)=103,48
4 G10,iN) ‘4|10n()\)[1—|10n0\)]
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HPE_CIE10 YB- & GR-Zapfen-Empfindlichkeit
T10,/N)=[B11X10 d\)+B12Y10,N)+B15Z10 {N)I/5,19

Blj 0,3897 0,688% —-0,0786\{570)
M.m 532, 590, 633 AQO: 5T 14 dA)=109,44
910,iA) = 4T 101N [ 1 -T104A) ]
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HPE_CIE10 YB- & GR-Zapfen-Empfindlichkeit

T10,/N)=[B11X10 d\)+B12Y10,4N)+B1 5210 dN)1/4,29
Blj 0,3897 0,688% —-0,0786\{570)

M. =515, 575, 626 E00: 5T 1 4A)=99,99

| 910,iA) = 4T 101N [ 1 -T104A) ]
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HPE_CIE10 YB- & GR-Zapfen-Empfindlichkeit
T10,(M)=[B11X10 d\)+B12Y10,4N)+B15Z10 N)1/4,36
Blj 0,3897 0,688% —-0,0786\{570)
A1m 517, 565, 621 C00: 3T 1 {)=97,67
910,iA) = 4T10,1A) [ 1 -T1o, n()\)]
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HPE_CIE10 YB- & GR-Zapfen-Empfindlichkeit
T10,(N)=[B11X10 d\)+B12Y10,N)+B15Z10 dN)1/4,46

Blj 0,3897 0,688% —-0,0786\{570)
M. 519, 585, 629 P0O: 5T 14 dA)=102,40
910,iA) = 4T 101N [ 1 -T104A) ]
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HPE_CIE10 YB- & GR-Zapfen-Empfindlichkeit
T10,(N)=[B11X10 d\)+B12Y10,N)+B1Z10 dN)1/4, 14

Blj 0,3897 0,688% —-0,0786\{570)
A.mz511, 570, 623 Q00: 3T 1 ¢A)=97,60
910,iA) = 4T 101N [ 1 -T104A) ]
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